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AABCH » £ =90°+ AB =1 - BIIAB}2 FA9SCD = sinA-cosA »
FEAABCH » Esin A =§ s Blj2A = 30°

EX00/E "RIRA * BI90° < 6 < 180°

EHEEOHE E—BEBEIEERB(SK  12k) » Hebk <0 Rlsind = -
D BAABCHMEB FRHRA B  CHIZ5 » Blsin LABD = sin £ACD

590° < 0 < 135°: B5P(sin260 » cos20)BREE=FR

£90° < 0 < 135° Blsin8 +cosf <0

5 12 13 s
FEABCP > S = . AIAABCEVEA 30

sin B s

FEABCTD » 1E—B=AMRELA = 45°BAF = 2v2 » BC = 3
£8a = cos25° » b =tan25° Blb > a
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EFSRGHAH IR (n) = |

cos 540° +

SFEP (k

BAABCD - =BRA S 67 BITSIRAMLLIETRE ?
(A) =ERERRGCV
(B) AMBCARAB=AT

(C) BABCRIEHTA S

(D) sind :sinB :sinC=5:6:7

(E) cosA :cosB :cosC=5:6:7
NIMLARAEIFAABCRTLA=FA ?
(A) cosA-cosB-cosC <0

(B) sin? A > sin? B + sin®C

(C) sind = %EsinB =1

(D) cosA = %EcosB =

(E) tanA = %HtanB =

6'n n<3

4 - n+ 6 n> 4 nﬁ%%ﬁ%%ﬂ)

sin(—330°) — tan 2025° = o

— 4)R018 EH—% » Bcoso = -2 Alk =
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3+ BX%0sinf + cos b =% » Bllsin® — cos @ =

4~ BHRAABC=ERDBIM/BC =5>AC=3AB =7 JERBCE D WRBFT  £ECD =28l
E = o

6 90°< 0 <180° Bsinf = cos1777° » KO =

7~ KRIBEERZE FA[4 0 21°] ~ B[4+ 141°] ~ C[6 » 261°| =B = AR EES

8\ BB ABBEE  CD =10 » 2DCB = 105° » £CDA = 120° » BIBC =
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BMNER60° - 1EiE 6 MERFIRRERBRIRIGHAE @ IEER30° - AIRKIRER RR/

~ AABCH > DBBC L —25 28R, ~ R, ~ RyDBIAAABD ~ AACD ~ AABCHIIMEBIHE » &R, © R, Ry =1:2:

39 8J4B : AD : AC =

STEEBABGEE 22 9)

(HDFRE =R PIREIE 22)

QFHBRA=AEPIREE D)

GEREFE LB -RA00) B4 0) BEPEHRMU2 " —DREL ' ¥ER2HEBLE—F 3
PA* + PB*MIR/IMERT ?

ZSRRHPHBEFE VKB SIMESES - STEERBET —REN @ tAEMKSEMER—AABC - 18 ' Hp

AB =50/ » AC = 80AR » 2A =60° > H3K :

(1) BC=2?“45D)

(2) BIREMAEAB ~ BOZ ESH—REP ~ Q ° {EISAAPQRIEAR : HEBPQCER= 1 3 RIPQHIRIGEERER
BAHRR?(65)
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